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k. Recap: AD

1. Linear combinations of vectors (hand-in) (Wv¥vY)

. . . . 1 -1
a) Prove that every vector in R? can be written as a linear combination of v = L} and w = [ 1 ] .

1 0
b) Consider the two vectors v = [O] andw = [1| in R3. Give a vector in R? that cannot be written
1 1

as a linear combination of v and w. Justify your answer.
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1. Linear combinations of vectors (hand-in) (*ﬁ?ﬁ?)
.o . . . 1 -1
a) Prove that every vector in R“ can be written as a linear combination of v = 1 and w = L

1 0
b) Consider the two vectors v = [0] andw = | 1| in R3. Give a vector in R that cannot be written
1 1

as a linear combination of v and w. Justify your answer.
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